B (T) FRMEREXSKR - #HHFAOFER

TMAFEI12A1BRE = F
XA E2 = &t T X2 8 8 B HE
m1TH 454 491 945 498||KFIEE 14 13 21 10
F2TH 230 259 439 230 KFH 5 9 6 15 10
m3TH 523 504 1,027 503|| K FHEEFith 91 93 184 18
F4TH 622 613 1,235 601 KFF S 284 290 574 265
m5TH 1,125 1,136 2, 261 1LOOFB1TH 20 19 39 15
i1TH 924 932 1,856 887|F&2TH 21 19 46 21
+2TH 329 322 651 285| KFEHF 98 107 205 89
i3TH 338 331 669 312|FH1TH 30 21 57 22
m1TH 351 339 690 U KFREHE 207 209 416 153
m2TH 847 863 1,710 843(|XME1TH 25 16 a4 21
m3TH 178 763 1,541 5T KFFEE 115 100 215 82
RFEF 1,214 1,061 2,275 1,032|EE1TH 16 13 149 55
®1TH 812 176 1,588 1961 FEE2TH 156 168 324 158
®2TH 172 858 1,630 168|[K=F = 98 107 205 89
®3TH 126 696 1,422 655\ K F T % 7 19 150 81
®4TH 362 367 729 43| KFHE 95 90 185 17
®5TH 527 521 1,048 498 KF K 89 18 167 68
#Be1TH 1,029 1,084 2,113 1,004)%% 1 & 202 176 378 291
#e2TH 265 287 552 2485k 2 & 312 350 662 374
B1TH 282 304 586 294|%% 3 & 256 232 488 295
m2TH 345 333 678 37|k 4 & 594 525 1,119 795
RFREFFE 208 208 416 1773 5 & 246 252 498 345
K1 254 263 517 214k 6 & 198 189 387 216
KRF T 944 959 1,903 666(% 7 & 116 129 245 18
RFFIE 1,111 1,074 2,185 870|FHm@ 1 TH 366 382 748 338
RFHBEN 482 485 967 350(FHM 2 TH 530 547 1,077 499
RFENA 212 209 421 195(|FHMA3TH 214 208 422 194
ARFERE 124 122 246 18|FEMATH 218 213 551 240
RFHEFFE 168 166 334 147
RFLEH 1,167 1,141 2,308 969
5% 1TH 460 486 946 395
ARFHERE 221 193 414 197
RFESH 280 250 530 230
RFMHEAR 300 273 573 252
RFARIL 188 169 357 153
RFRFHH 579 528 1,107 471
KRFHE 17 19 36 14
RFTFHHA 117 95 212 92
RFEFFH 88 19 167 10
RFTEH 181 213 394 198

RFAEEE 69 62 131 58 B 24,842 24,591 49,433 23,087




